
1.  Washers should be used with all screws to avoid damaging the joint 
surface under load.

2.  Only use washers of the correct size with the screws.

3.  Ensure that the correct screw sizes are used. Improper installation may 
cause damage or injuries.

4.  Always make sure that the bike is powered off before performing any 
installations.

5.  We recommend performing installation works in a brightly lit area.

6.  Take care when removing any components to avoid damaging the bike.

7.   If unsure, contact our support team at support.eviebikes.com for 
assistance.

Urban 
Warrior 
Bundle 
Installation 
Guide

EVIE S1 / T1 

What’s In The Box Best Practises

Front Rack Installation Guide

02. Install the support to the underside of the front rack using the  
M5 screws.

03. Loosen the quick release skewer on the front wheel.

01.  Install both rods to the front rack using the M5 screws and nuts.

05. Remove the screw from the mudguard mount.

06. Install the rack support over the mudguard mount using the same 
screw.

04. Remove the front wheel by detaching it from the fork.

08. Re-attach the front wheel.

09. Tighten the quick release skewer.

07. Install both rods to the bike fork using the M5 screws.

eviebikes.com facebook.com/EVIEbikes instagram/evie_bikes #EVIECityBikes

Images in this manual may differ from the actual product.

What’s In The Box

front rack x 1

rear rack x 1

kickstand x 1

support x 1

M5 screw x 6

M5 washer x 6

M5 screw x 2 screw washer

M6 screw x 2

M5 washer x 2

M6 screw x 1

M6 washer x 1

M5 nut x 2rods x 2

wrench x 1
For rear rack 

installation
For front rack, rear
rack and kickstand

installation

For rear rack 
installation

5 mm 
allen key x 1

4 mm 
allen key x 1

Tools

Front rack

Rear rack

Kickstand

https://support.eviebikes.com/en-US
https://eviebikes.com/
https://www.facebook.com/EVIEbikes
https://www.instagram.com/evie_bikes
https://www.instagram.com/explore/tags/eviecitybikes/


Kickstand Installation Guide The Rear Rack The KickstandThe Front Rack

Carry goods easily with the handy front basket.

Always make sure to secure items in the basket properly and avoid 
overloading it to maintain balance and safe riding conditions.

Do not exceed 9 kg load.

02. Attach the kickstand using the M6 screws.

01.  Align the kickstand to the mounting holes on the rear wheel.

Rear Rack Installation Guide

03. Remove the rubber caps on both sides of the rear wheel. Make sure to 
store them safely for later use.

02. Gently unplug the cable running along the frame.

01. Remove the cable tie clip on the bike frame. Make sure to store it safely 
for later use.

06. Install the rear rack to the bike frame using the M5 screws.

05. Remove the rear wheel by detaching it from the frame.

04. Loosen the nuts on both sides of the rear wheel. You do not need to 
remove the nuts completely.

11. Carefully re-connect the cable. Use the arrow markings on the cables to 
align the connectors. Re-attach the cable tie and use it to clip the cables.

10. Cover the nuts with the rubber caps on both sides of the wheel.

09. Tighten the nuts on both sides of the wheel.

08. Re-attach the rear wheel. If the nut was removed, carefully assemble it 
back in the order shown.

07. Install the M6 screw to fasten the rear rack to the mudguard support. 

Carry extra items with the versatile rear rack. Can beused to mount 
panniers and bags for more storage.

Always make sure that the load is properly balanced and items secured.

Do not exceed 25 kg load.

Do not use as a passenger seat or child carrier without a child seat.

Park your bike conveniently and keep it steady while loading or unloading 
items.

The kickstand is designed to support the weight of the bike only.

Do not use the kickstand to support your full weight or a fully-loaded bike 
as it may result in the kickstand bending or breaking in extreme cases.


